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Stoichiometry Problems )(

2Naygs) + 2H20() 2> 2NaOHqaq) + Hz(g)

1. 1 90.0 g of sodium are dropped into excess water, how many liters
of hydrogen gas would be produced at standard pressure and
220C assuming all of the sodium reacts?

O H, + 2NaOH 2/
0?&/\/;/ 1; fi"; x-_?//f s ;57mo/cs' H, RT 17 l/ (/_75_7_)/{2 ?j)/ﬁ [M )
" 229, Zne BT oo
4Als) + 302(g) 2 2A1:03() / I/ U7 ul H, . j) /

2. 1f 100.0 g of aluminum is oxidized compleiely, how many grams of
aluminum oxide would be produced?
2ML0; 06y - 189.0;
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ShOz(s) + C(s) > Sn(s) + COZ(Q) / / 5700ﬁ /}[2_05(5) /

3. How many liters of carbon dioxide would be produced at standard
pressure and 25°C for every 1.00 kg of tin produced?

[.OOX'D j Snox fmo\ X lCD?. = 8.47mo (o, U me'r YLIZ){O Oglf) 279)
0911 1Sn = ”7’5;
CU(S) + 2AgN03(aq) -2 CU(N03)2(uq) + 2Ag(s) l jOé L— COij)[

4. 5.00 grams of copper are placed into 300.0mL of a 0.20M solution of
silver nitfrate. How many grams of silver are produced?2 Does any

o - _
unreacted copper remaing 0 0dAUS X 6 31 bby = 309

b3, 5561 rema
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2Fe(s) + 3H28O4(aq)~> Fe2(804)3(aq) + 3Hz(g) Mo |

5. If a balloon is to be filled with 5.0 L of hydrogen at standard pressure
and 20°C, how many mL of 0.3M sulfuric acid are needed and how
many grams of iron are needed. (Assume the reaction has a 92%
yield).

An,= PV = (L2)(50 = p 90785, x

RT (0821)(2 73)
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6. If 10.0 grams of potassium chlorate are heated until no more
f——/

oxygen is released, how many grams of potassium chloride will
remain in the reaction vessele  [p,p, x Ime [ mo] y 2KCI 74 55j é 053 L
oags 2¢hs

_/___.



